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Pre-Calculus Homework #18 — Answer Key
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‘—10\/5 +10i‘ =20  Polar form = 20(cos150° +isin150°)
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‘6((:05120° +1 sianO")‘ =6 Rectangular form = —3+33i

0-5i|=5  Polar form = 5(cos 270" +isin 270°) ol
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iI|I=9  Polar form = 9(cos 240" +isin 240°)
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11) —3(cos(_:j’T”)+isin(_:j'T”)) 3 Rectangularform—T

12) 24/2(c0s105° +isin105°) which gives you 1—~/3 +i +i~/3
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13) 3(cos330" +isin330°) which gives you
14) 32(cos30° +isin30°)
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17) 1(cosO’ +isin0’), 1(cos60° +isin60°), 1(cos120” +isin120°),
1(cos180° +isin180°), 1(cos240° +isin240°), 1(cos240° +isin240°),
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18) x=~38+i, x=0+2i, x=—V/3+i, x=—/83-i, x=0-2i, x=+3-i

19) x=§/§(cos42°+isin42°), x:E/E(cosll4°+isin114°), x:5/5(005186°+isin186°),
x = $/2(cos 258" +isin258°), x=%2(cos330° +isin330)
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